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RS2 “ SECOND REVISION EXAMINATION - 2025

10 - std MATHEMATICS
TIME : 3.00 Hrs , MARKS : 100

| CHOOSE THE CORRECT ANSWER:

. 1fn (AXB)=6anda=iq .
(@)1 (b)z{ , 3}then n (B) |?C)3 )6

If {(a, 8). (6, b)} represents an identity function, then the value-of a and b
are respectively '

(a) (8, 6) (b) (8, 8) () (6,8) (d) (6, 6)

. )
The 8" term of the sequence 1,1, 2,3, 5, 8,... is N
(a) 25 (b) 24 ) | (c) 23 (d) 21

The value of (1*+ 23 + 33 4 4 153 ) — ( 1+ 243+..+15)is _
a) 14400 b) 14200 - c) 14280 : d) 14520

The solution of the systernx+y-3z=-6,-7y +72=7,32=9 is
(@)x=1,y=2,z=3 . (by x=-1,y=2,z2=3
(C) X:_lly:"212=3 : ' y (d) X=1;Y:'2_:Z=3
The sum of two zeros of the polynomial f(x) = 2x°+ (p + 3) x + 5 is zero then the
valueofpis (a)3 . (b) 4 - (0)-3  (d) -4

c'ljn the adjacent figure £BAC =90° and AD 1BCthen

(a) BD.CD =BC? (b) AB.AC = BC (c) BD.CD = AD? (d) AB.AC= AD?

The slope of_fhe line joining (12.3), (4, a) is ei'. The value of ‘a‘is
@1 ()4 (c) -5 ()2

The x and y intercepts of the line 2x -3y +6 =0 respectively are. -
(a)-2,3 (b) 3,2 (c) -3,2 , (d)3,-2

If (sina+coseca)2+ (cosa+secc¢)z= k+tan 2a+cot %a , th_eh the value of k is equal to

(a) 9 (17 @5 : (d)3
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The curved surface area of a right circular cylinder whose radius is ‘a’ units and
height is ‘b’units is equal to

(a) ma?b sq.units . (b) 2mab sq.units (c) 2w sq.units  (d) 2 sq.units
q

The volume (in cm? )of the greatest sphere that can be cut off from a cylindrical

" log of wood of base radius 1 cm and height 5 cm is

(@) = w2 () 5w (@) 2F

If the standard deviation of x, y, z is p then the standard deviation of
3x+5,3y+5,32+5is (a)3p+5 (b)3p (c)p+5 (d)9p + 15

The probablllty of gettmg a jOb for a person is f If the probability of not getting

‘the job is § then the value of x is

(a) 2 (b) 1 ‘ (c)3 .. (d) 1.5
ANSWER'AN‘Y 10 »QUE'STIONS.' QUESTION N‘o'.zs IS COMPULSORY: 10 X 2 =20

Represent the given relation by (|) an arrow dlagram.(u) asetin roster form,
wherever possnble {(x, y)Ix= 2y, x€ {2 3 il S y € {1, 2 3,4},

Let A={1, 2, 3, 4} andB=N. Letf: A - B defined f(x) =3 then,
(i) find the range of f ' | (ii) identify the type of function .
Find the indicated terms of the sequences whose n™ terms is ‘giVen _ -

5n
by Clnv= '7;‘_*._2, asand a3

. : . 7p+ 2
Find the excluded values of the expression £

~ 8p? 4+ 13p +5°
Verify that A% ,=IWhenA=[§.___J

In A ABC, D'and E are points on the sides AB and AC respectlvely such that :
AD 3
DE I BC (i)If —=-—and AC=15cm and flnd AE.

l

Find the equatlon of aline through the given pair of pomts (2 3) and (-7, -1).

If the stralght lines 12y = - (p +3)x+ 12, 12 x-7y=16 are perpendlcular “

then find ‘p
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1+4+cos@
Prove that /1\ = cosech + cot9
—cos0

vad the dlameter of a sphere whose surface area is 154m?.

If the ratio of radu of two spheres is 4 7, flnd the ratio of their volumes.

- The standard deviation and mean of a data are 6.5 and 12.5 respectlvely

Find the coefficient of varlatlon
A coin is tossed thrice. What is the probablllty Of getting two consecutlve ta||S7

If two pOSltlve integers p and q are written as p = a >b* and Cl =a’b,a,b

- ANSWER ANY 10 QUESTIONS. QUESTION NO.42 1S COMPULSORY 1o X5=50 .

Let A={x €W|x<2} B ={x ENI 1< x<4}andC {3 5}
'Verlfythat Ax(BﬂC) (AXB)n(AXC)

The functlon ‘th whnch maps temperature in Celsrus (C) mto temperaturev =
in Fahrenheit (F) is defined by t (C) = F where F= — C+32. Find, (i) t(0) (ii) t (28)

(iii) t (-10) (iv) the value' of C when t (C) 1212 (v) the,temperature when the Celsius
value is equal to the Farenheit value o S [ s :

The houses of a street are numbered from 1 to 49. Senthll's house is numbered such
that the sum of numbers of the houses prior to Senthil’s house is equal to the sum of
numbers of the houses followmg Senthil’s house. Find Senthil’s house number?

Rekha has 15 square colour papers of suzes 10cm 11cm 12cm 24cm How much
area '

can be decorated W|th these colour papers?

D] 7
Solve the followmg system of Ilnear equat|ons in three variables x + y +z- 5‘;
2x y+z—9 X = 2y+3z—16 : : -

.|fA{5'2-9] ,B=|1 2| Verifythat (AB)T=BTAT

12 8 e 1

- State and proVe Pythagoras theorem. |

A line makes posntlve mtercepts on. coordmate axes whose sum is7 and it passes

through(3 8). Find its equation. -
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A flag Pole of height

metres A man is standi
aNgle 45° ang mo

métres is on the top of the hemispherical dome of radllus L
'NE 7m away from the dome. Seeing the top of the pole at an

ving 5 m away from the dome and seeing the bottom of the pole at

Find (i) the height of the Pole (ii) radius of the dome. (v3 = 1.732).

The interng| and external diameters of a hollow hemispherical vessel are 20 cm and

8 €M respectively, Find the cost to paint the vessel all over at  0.14 per cm??

\

| container of base radius 6cm and helght 15 cmiis fU” Of ice
to be filled in cones of height 9cm and base radius 3 cm,
P- Find the number of cones needed to empty the container.

Aright Circular cylindrica
cream. The jce cream js
. having hemlspherncal ca

The rainfall recorded j

In various places of f|ve dlStflCtS ina week are given below.
Find its Standard devj

atlon

14

Two unbiased dice are rolled once. Find the

probability ofgettlng(l)adoublet (equal -
numbers on both dice)

(ii) the product as a prlme number (iii)

the sum as a prime’
number (iv) the sumas 1. v

If tan@ + sin@ ém, tané =sinB=nand m#n, ; then show that m -n’=4 Vm

ANSWER ALL THE QUESTIONS . 2X8=16

(a) Constr.uct a AABC subh that AB=5. 5 ¢m, £C = 25° and the altitude from CtoABis

of length 4 cm. (OR) (b) Draw a ‘tangent to the circle from the point P having -

radius 3.6 cm, and centre at O. PointPis at a dlstance 7.2 cm from the centre,

.

(a)Draw the graph ofy =2x*—3x-5 and hence solve 2x - 4x - 6

is.travelling at a uniform speed of 50 km/hr.

=0 . (OR) (b))Abus'
Draw the dlstance - tlme graph and

hence find. (i) the constant of variation (ii) “how far wil| it travel m 90 mmuteSR

(iii) the time required to cover a distance of 300km from the graph
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